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R 6 =4 TRARIL ZHHRF JEETHE VPR (THERERER)
A - AR - M Hirks XA o fii &
ELHE T s G 5
1. BEHT
(DIRET
IEHELET K 1. 000
PEH (1) BE + m3 71. 000
EH GEA) HCH 1B m3 168. 000
AR IR - ARG TR e AR I T 4R m 82. 000
R AP m3 2.900
(2)1RZ AL
1)z 7V —rRIET = 1. 000
a7V — b (KEE) BB18-8-40 W/C=60% m3 220. 900
PR () FOEA00mn JET. dnm % * 3.000
TRET (RER) nf 127. 100
A IR T nf 80. 700
TP T (K E) HEF i 3. 800
ARSEFTHE B #k55 SD345 D22 N 169. 000
¥yvy hyr—7 m 69. 800
2) MR L = 1. 000
27 U—h (&) BB18-8-40 W/C=60% m3 5. 800
AR (TGS /N f 20. 000
HAEHT (M) E;gfg_fg%ﬁg&%mmm nt 20. 000
(3) B A Bk iE L
1) B4 ARt T = 1. 000
K AT L— b (AR A G B ) AT (R40cem X ££30cm X 1em) W% 1000
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R 6 =4k PRI ZHHRFE BEETHE (OFREAE)  (THERERER)
LAE - R - A Btk XA & fii &

2 ) 1L Hb S5 7 A Tl X ) o R 7 v 1. 000
AR A 1. 000
PRl [ T HiAER P 1. 000
3) st R T =X 1. 000
AEAT v 300X 19 7S 35. 000

(4) SPEAMLEL T

1)t (2%) 19~50cm k2R By 1. 000
AX ARRE e B 19cm A 2. 000
P ¢ MmER  22cm AR 1. 000
AX KR M@ E R 24cm N 2. 000
AFx kPR M=ER  29cm AR 1. 000
A ARRE JlgEE A 30cm N 1. 000
AFx kPR MmER  32cm AR 1. 000
A KR E M E A 33cm N 1. 000
AFx kPR MmER 36cm AR 2. 000
A KR E M@ E R 37cm N 2. 000
AFx kPR MmER  38cm AR 3. 000
AX KR M@ E R 4lem N 1. 000
AFx kPR MmER  42cm AR 2. 000
A ARRE g E R 49cm N 1. 000
AFx kPR MmER 50cm AR 1. 000
2) etk ®E (b /%) Ilem~19em /INEH6A iy 1. 000
v /% kiR MmER  1lem AR 1. 000
/% (ERE & B 16cm A 1. 000
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R 6 =4k PRI ZHHRFE BEETHE (OFREAE)  (THERERER)
LAE - R - A Btk XA & fii &
b /% kiR fEELRE  18cm N 2. 000
/% (ERE M EA: 19cm A 2.000
3) R GHEA) ldem~20cm  /NaF2A BV 1. 000
MR (bR# M@ B  14em A 1. 000
MR (bRt M EeE  20cm N 1. 000
4) RARALER = 1. 000
VAR ¢ HRER m3 8. 000
=TT — R TR AR m3 8. 000
AR fif FREE m3 8. 000
2. T
()T
1) B R 1 v 1. 000
r—T VT L— o BEE R £ 1. 000
A TN R - R # 1. 000
VA S [ S #* 1. 000
R A R e £ 1. 000
2) K T v 1. 000
PEARRE BGR - Wik 500mm m 60. 000
R
1. GERE
(1)EfRF
1) AR I =V 1. 000
T THEBARIA - HHST BOKESER 3URTE = 2. 000
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R 6 =tk PRI Z4HRE B LILE EHOFRERAE)  (CERERER)

LAE - R - A Btk XA & fii &
EoSet
1. et
(1) %&et
1)@t = 1. 000
FRETRRE A 1.000
SRR R E2V 1. 000
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